Einfaches Verfahren nach DWA-A 117 RRR Ortslage Schwalbach 20.04.2017
Schwalbach Eingeben :
Spalte 8 Au = [ha] 0,843
Zeile 77 tf =5,0 min, fa ablesen aus Bild 3 Qdr = [I/s] 65,00
, Qt24 = [I/s] 0,35
v Qdr,v= [I/s] 0,00
Dauerstufe D |hn rD qdr,r,u rD-qdr fz fa Vs,u
3-jahrlich 0,33 0,33
V= maxVs,u * Au =
5 7,0 233,3 76,7 156,64 1,15 1 54,0396 65 m3
10 10,9 181,1 76,7 104,44, 1,15 1 72,0611
15 13,6 150,9 76,7 74,236, 1,15 1 76,8347
20 15,6 130,83 76,7 53,636, 1,15 1 74,0182
30 18,6 103,5 76,7 26,836, 1,15 1 55,5514
45 21,6 80,2 76,7 35364 1,15 1 10,9806
60 23,8 56,14 76,7 -20,56/ 1,15 1 -85,133
90 25,9 48,00 76,7 -28,66/ 1,15 1 -178
120 27,6 383 76,7 -38,36| 1,15 1 -317,65
180 30,1 37,9 76,7 -38,76/ 1,15 1 -481,44
240 32,0 22,2 76,7 -54,46 1,15 1 -901,92
360 35,0 16,2 76,7 -60,46/ 1,15 1 -1501,9
540 38,4 118 76,7 -64,86 1,15 1 -2416,8
Dauerstufe D |hn rD qdr,r,u rD-gdr fz fa Vs,u
5-jahrlich 0,20 0,20
V= maxVs,u * Au =
5 8,1 269,3 76,7 192,64 1,15 1 66,4596 84 m3
10 12,4 206,8 76,7 130,14 1,15 1 89,7941
15 15,5 172,0 76,7 95,336, 1,15 1 98,6732
20 17,8 148,5 76,7 71,836, 1,15 1 99,1342
30 21,3 118,8 76,7 42,136, 1,15 1 87,2224
45 25,0 925 76,7 15,836 1,15 1 49,1721
60 27,7 76,8 76,7 0,1364| 1,15 1 0,56475
90 29,9 55,4 76,7 -21,26/ 1,15 1 -132,05
120 31,7 440 76,7 -32,66/ 1,15 1 -270,45
180 34,3 31,8 76,7 -44,86 1,15 1 -557,21
240 36,4 253 76,7 -51,36| 1,15 1 -850,58
360 39,5 18,3 76,7 -58,36| 1,15 1 -1449,8
540 43,0 13,3 76,7 -63,36| 1,15 1 -2360,9
Dauerstufe D |hn rD qdr,r,u rD-qdr fz fa Vs,u
10-jahrlich 0,10 0,10
V= maxVs,u * Au =
5 9,5 318,1 76,7 241,44 1,15 1 83,2956 113 m3
10 14,5 2416 76,7 164,94 1,15 1 113,806
15 18,1 200,6 76,7 123,94 1,15 1 128,274
20 20,8 173,5 76,7 96,836, 1,15 1 133,634
30 25,0 138,9 76,7 62,236, 1,15 1 128,829
45 29,5 109,3 76,7 32,636, 1,15 1 101,336
60 32,9 91,4 76,7 14,736 1,15 1 61,0087
90 35,4 655 76,7 -11,16) 1,15 1 -69,326
120 37,2 51,7 76,7 -2496 1,15 1 -206,7
180 40,1 37,14 76,7 -39,56/ 1,15 1 -491,38
240 42,3 294 76,7 -47,26) 1,15 1 -782,69
360 45,7 21,1 76,7 -5556/ 1,15 1 -1380,2
540 49,4 152 76,7 -61,46 1,15 1 -2290,1




